UGC NET 2021 Chinese

Topic:- GP_20NOV_A_SH1

1) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

(o 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferor 3 3w a1u siiest @ sienR uR gesil o Iaz Sifsie ¢

forgstifera aifere! o: fafdee FaIfencril (A - F) 3 csol &t 3ien iz fenfRil &6t gferordaar - fraur o1 fazor gzga ot 3 ef
FaiferencrIl 3 et et fenfPRil & Jizear 12000 3

JeIfdeEnery - ar faenffn o1 faazor

sreRrenerr | [RenfRil B gfereraar (% )ersa B sizear
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the total sum of the number of girls in College-C, boys in College-D and girls in college-E together?

Fisifeener - C 3 crsfipsil &I, ssifdenern - D @ crsol &I siiR Hsifdencr - E 3 sl & A o1 @ APIbd o= 8 ?

[Question ID = 3576][Question Description = S2_qSNz_PG_GP2_Q01]
1. 3400

[Option ID = 14301]
2. 3800

[Option ID = 14302]
3. 3200

[Option ID = 14303]
4. 3600

[Option ID = 14304]
Correct Answer :-
e 3400

[Option ID = 14301]

2) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.



College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arférr # U a1u snidest @ smenR uR gesil o Ia= S :

forrotifepa aifert ©: fafticar wsIfdencril (A - F) 3 cswml & e iR fRenfil & giereradr - fiRaur o1 faaeur yeqa ol & it
Jreiferencril 3 e et RenfRil &t 2izn 12000 3

aeIfdencrI - arR faenfel o1 faazor

sreRrererr | [Renfiil B yfereraar (% )crsat & sz
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the respective ratio of the number of boys in College-C, the number of girls in College-B and the total number of
students in College-E?

Jraifdencrr - C 3 asal &t Iz, Fsifdencr - B 3 asfip:il &t e siiz asifdencrn - E 3 o frenfRil &t e o1 auor: siepurd = 3 ?

[Question ID = 3577][Question Description = S2_qSNz_PG_GP2_Q02]
1. 45:7:97

[Option ID = 14305]
2. 43:9:97

[Option ID = 14306]
3. 45:7:87

[Option ID = 14307]
4. 43:9:87

[Option ID = 14308]
Correct Answer :-
o 45:7:97

[Option ID = 14305]

3) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200




College | |Percentage (%) of students |Number of Boys

aifért d fu 31U sfims @ MR R gosll @ IR SISt ©

forgotifepa aifert ©: fAafticar aarfdencril (A - F) 3 crswl & e iR Renfil & gfereradr - firaur o faarur yeqa ol & it

Jrsiferencril 3 e et RenfRil &t Jizen 12000 3

HBIfdENCRI - arR faeniekil o1 faazor

srefreerr | [Renflil B yfereraar (% )crsat & sz
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the difference between the number of boys in College-E and the total number of students in College-F?
JalfdenerI - E 3 crsol &l 3z 3k dAstiencrr - F 3 qet fdeni2il &f sz o & a=i sidR 3 ?

[Question ID = 3578][Question Description = S2_qSNz_PG_GP2_Q03]
1. 1640

[Option ID = 14309]
2. 1760

[Option ID = 14310]
3. 1720

[Option ID = 14311]
4. 1680

[Option ID = 14312]
Correct Answer :-
e 1640

[Option ID = 14309]

4) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferept i U 31U 3fipsi @ MR U= Yosll d Iaz ifSe @

forratifeoa anfert ©: fAafticar ssIfdencril (A - F) 3 crswl &l Jiean iR Renfil & gfereradr - firaur o faaeur yeqa ol & it

JraiferencrIl 3 e et RenfRil &t Jizen 12000 3

HBIfdENcRI - arR faenfekil o1 faazor

Freifdenerr | [fenfifen &bt gfereraar (%)

TSt Pt zizear

A 12%

1000




preencrr | [Rrenffit 6 gRtreraar (%)crswt bt Fiz |
B 9% 800
C 26% 1800
D 18% 1200
E 29% 2400
F 6% 200

In which of the following colleges is the total number of students equal to the number of girls in College-E?
forgatifepa fop1 waIfcrencrr 3 ferenfRRil &I et dAwen, FsIfdencrr - E & asfis:l &I e @& wrer 3 ?

[Question ID = 3579][Question Description = S2_qSNz_PG_GP2_Q04]
1. A

[Option ID = 14313]
2. B

[Option ID = 14314]
3. C

[Option ID = 14315]
4. D

[Option ID = 14316]
Correct Answer :-
e A

[Option ID = 14313]

5) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

(o 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferept A f3U 319 sfidpsl @ 3R Uz gesll @ 3az difsre @

forgstifera aifer! o: fafdeor FaIfencril (A - F) 3 csol &t izen iz fenfRi &6t gferordaar - fraur o1 fazor gzga ol 3 ef
JaiferencrIl 3 et et fenfRRil & Fizear 12000 3

JeIfdenerI - ar faenffn o1 faazor

orifRiencrr | Renfii S gRierdar (%)asal &t iz
A 12% 1000
B 9% 800
C 26% 1800
D 18% 1200
E 29% 2400
F 6% 200

The number of girls in College-A is approximately what percentage of the total number of students in College-B?

FaIferencra - A 3 crsiendl &l vizoan, #Asifdenert - B 3 ferenf2lil &bl ayer Fzean I comer fobden yferera 3 ?



[Question ID = 3580][Question Description = S2_qSNz_PG_GP2_Q05]
1. 50

[Option ID = 14317]
2. 35

[Option ID = 14318]
3. 45

[Option ID = 14319]
4. 40

[Option ID = 14320]
Correct Answer :-
e 50

[Option ID = 14317]

Topic:- GP_20NOV_B_SH1

1) Which parenting style is the one in which parents seem cool and controlling their interactions with their children (low
warmth, high control):

forgotferRaa 3 31 as Dlot AT Ugad (Ucer) 9ictl & =13l Arer - T 319l <l @ AT 31Ul 3id:fp 3 81/ - 9o 3iiR foriqa Yeila aid 3 :
(foraar sptsiion, 3ca foriqur) :

[Question ID = 3581][Question Description = S2_qSNz_PG_GP2_Q06]

1. Authoritative parents/yiférifs® amer - fier [Option ID = 14321]

2. Authoritarian parents/snfermif¥a arar - fdar [Option ID = 14322]

3. Permissive parents/srojsiue e - fiar [Option ID = 14323]
4. Rejecting/Neglecting/Uninvolved parents/3Rdi®R @0l arcl / 3UsT ol drel / 3idsifdd of alol arcl arr - fiar [Option ID = 14324]

Correct Answer :-
e Authoritative parents/yiférpifsa amar - faar [Option ID = 14321]

2) Which of the following assessment methods provides feedback, that is non-evaluative, occurs before or during
instruction, and guides teachers in planning and improving instruction?

forgatfciiRaa vt PeAidel Ul 3 BIsd® Ygrel fop=r SIdT 3, Sil 31R - JcIidol URD Il 3, 36Ie9lel A gd AT IAD SRRIel afed il 3 3R
3oL 9reT el ANSToll Follol 311 333 JLR cllol 3 3eAUD] DI ARGl Bl 3 :

[Question ID = 3582][Question Description = S2_qSNz_PG_GP2_Q07]

1. Summative/=emcas [Option ID = 14325]

2. Criterion-referenced/=isfifa @it [Option ID = 14326]
3. Formative/fsmfuncaas [Option ID = 14327]

4. Norm referenced/3icféfa et [Option ID = 14328]

Correct Answer :-
o Summative/:encaa [Option ID = 14325]

3) Given below are two statements
Statement I: Parents and teachers have a highly significant impact on the maturation aspect of cognitive development

Statement Il: Schemes are an organised system of actions or thought that allow us to mentally represent or "think about" the
objects and events in our world

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 ¢

el - | : Jstrelicaas Rt @ uf¥uddet Usg Uz Hrdr - firar siiz Rigial o1 aga & #cwagef Ysna usar 3

@erel - || : Asrend fepRmail a1 foraml & Fa1fda cravend Bl 3 Sil s sardl gfornm & arqgail silz acoinsil @l #Anif¥e Hu A gfefsifira wwor ar
SWRRD Doll B Alclid A, oA Y 31w frwedl 3 A JE a2 @I ool HIFME :

[Question ID = 3583][Question Description = S2_qSNz_PG_GP2_Q08]

Both Statement | and Statement Il are true/wserwr | aiiz |l Sioit 2er & [Option ID = 14329]

Both Statement | and Statement Il are false/@serwr | 3iiz || Siaif sRicer & [Option ID = 14330]
Statement | is true but Statement Il is false/@emol | A1 8 , fboq @eret |l sRir & [Option ID = 14331]
Statement | is false but Statement Il is true/memwr | sRic &, fboq ®erwr || A= & [Option ID = 14332]

A W N -

Correct Answer :-



e Both Statement | and Statement Il are true/@emr | 3iR 11 Glell i1 & [Option ID = 14329]

4) ldentify the types of cognitive load that make demands during learning
A. Intrinsic

B. Gestalt

C. Extraneous

D. Extinction

E. Germane

Choose the correct answer from the options given below:

3 ASIGIcAD HR D YPRI bl usdlol o3 Sl MPIA D IR HiST R 3 ¢

A. srif¥s

B. sréice

C. s

D. faeia

E. Jora

sifa fou s1e frpeul 9 A A IR DI w6l HIfSIE ¢

[Question ID = 3584][Question Description = S2_qSNz_PG_GP2_Q09]

1. A, B and C only/daet A, B siiz C [Option ID = 14333]
2. B, C and D only/a@5aa B, C sfiz D [Option ID = 14334]
3. A, Cand E only/aaea A, C iz E [Option ID = 14335]
4. C, D and E only/asaer C, D siiz E [Option ID = 14336]

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 14333]

5) Match List | with List I

List | List Il
Erik's stages of Psychosocial Approximate
Development Age
- A I. Young
A. Basic trust versus Basic mistrust
adulthood
Il. Late
B. Initiative versus Guilt
adulthood
C. Intimacy versus Isolation lll. 3 to 6 years

IV. Birth to 12-

D. Ego integrit Despai
go integrity versus Despair 18 months

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -l

(cf¥e & FeiRIENRID fRIpRT & azvl) (aafoore 3Ry )

A. diiferes Rreart seat difere sifdrart |. gd @RIFmar

B. uscl dottat SIa Il. arg & arzwar

C. 3[ARSIAT Tl ThIhbIbuT . 33 6 ad

D. 3183 AcATGTSOT ToIH G IV. St @ 12 - 18 Fdlor

il fou s1e frseul 3 3 A8 IR gfor ¢

[Question ID = 3585][Question Description = S2_qSNz_PG_GP2_Q10]
1. A-lV,B-U, C-l,D-U

[Option ID = 14337]
2. A-Ul,B-l, C-ll,D-lv



[Option ID = 14338]
3. A-L,B-ll, C-lV, D-lll

[Option ID = 14339]
4. A-l, B-lv, C-lL, D-l

[Option ID = 14340]

Correct Answer :-
e A-LV,B-l, C-l,D-U

[Option ID = 14337]
6) When we design the experiment in such a way that the variations caused by extraneous factors can all be combined
under the general concept of "chance", it represents which principle?

S g fepfl udlerur (varmuf¥dic) o1 fomeilvr 331 YR @ 3 b ar@r PRI GRI 3cusd faficerarsii (df¥ueizn) ol eI (aiz1) &l ARIea
AERYN @ 3ideid IS e st Irpar 8, al w1s v Rigia @1 foreuvt @wear 3 ?

[Question ID = 3586][Question Description = S2_qSNz_PG_GP2_Q11]

Principle of randomization/=mefessbiasur @1 Bigia (fdRuc sifw Issasienr) [Option ID = 14341]

Principle of replication/ysrmgfer @1 RBrgia (fdfRmet sifw cfidoret) [Option ID = 14342]

Principle of local control/zemsfter foriqur @1 RBrgia (fif¥uet sifw cliaser weler) [Option ID = 14343]

Principle of operational control/3ifdgicae foriqur @1 Bigia (ff3uet sifw sifuderer wdier) [Option ID = 14344]

AN wN -

Correct Answer :-
® Principle of randomization/=mefesdbiassur @1 Bigia (iR sitw Issanssioer) [Option ID = 14341]

7) Positivism as an epistemological program is characteristic of
SicRMeRT BRigH & U d gragars fpadl fadar 3 ?

[Question ID = 3587][Question Description = S2_qSNz_PG_GP2_Q12]
Social sciences/amenfSip fasier [Option ID = 14345]

Performing Arts/ygefer et [Option ID = 14346]

Natural sciences/ympfere fe=irer [Option ID = 14347]

Legal studies/faférs sreerieor [Option ID = 14348]

A W N -

Correct Answer :-
® Social sciences/xmfed fasior [Option ID = 14345]

8) ldentify the CORRECT sequence of empirical steps in the linear model of the research process

ofter yfepan & 3Raes yfewirer 3 smopnfde arvil & A8 sigiaH 6l usdrel HIfe :

[Question ID = 3588][Question Description = S2_qSNz_PG_GP2_Q13]
1. Sampling — theory — interpretation — collection — validation — hypotheses/yferariet — RBrgia — fordaet — Jisgur — ygifiaszor — yraaseuon [Option ID

= 14349]

2. Theory — hypotheses — sampling — collection — interpretation — validation/Rigia — yraacuslt — yferarrel — favr — fordast — yemuftaszur [Option 1D
= 14350]

3. Validation — theory — hypotheses — collection — sampling — interpretation/gsmvfteszur — Rigia — Yrabeust — o — yferriel — fordaet [Option ID =
14351]

4. Collection — sampling — hypotheses — theory — interpretation — operationalization/sEu — YyferRrIel — Yraawcusr — RBigia — fordaer —
JAfpRIcarchanul (3Mmvmeicisane) [Option ID = 14352]

Correct Answer :-

e Sampling — theory — interpretation — collection — validation — hypotheses/yfercrior — Rigia — fordaet — g1 — yamvfianr — yraaeusn [Option 1D
= 14349]

9) Which of the below mentioned approaches fall under the Quantitative Approach?
A. Simulation approach

B. Projective technique

C. Inferential approach

D. Depth interview

E. Experimental approach

Choose the correct answer from the options given below:

forgotferR3ae 3 31 Dot A ANPRI AGIIHD ABPEEP o 3ideia 3 ?
A. arggvr sifépra (ATSFHCIeroT TYIe)

B. gerdl awmofie (Qeifdea eaofias)

C. srgpnfore 3ifEE (3oBIIRICT Tye)



D. s1s01 AIgIIcDR

E. grIf® ifdenr

il f3u a1 fraseul 3 A W& IR BT Il BRI :

[Question ID = 3589][Question Description = S2_qSNz_PG_GP2_Q14]

1. A, Cand E only/daet A, C 3iiz E [Option ID = 14353]
2. B, C and E only/dsaet B, C siiz E [Option ID = 14354]
3. B, C and D only/daer B, C siiz D [Option ID = 14355]
4. A, B and C only/dsaet A, B siiz C [Option ID = 14356]

Correct Answer :-
e A, CandE only/aaet A, C iz E [Option ID = 14353]

10) Match List | with List Il

List | List Il

A. Ex post facto I. Finding a solution for an immediate problem facing a society or an industrial/business
Research organisation

B. Applied Research Il. Related to some abstract idea(s) or theory

C. Conceptual Research [lll. Development of hypotheses rather than their testing

D. Exploratory Research [IV. No control over variables, reports only what has happened or what is happening

Choose the correct answer from the options given below:

It -1 Bt el -1l A gakma Hifde

et -1 et -1l

A. orRifaz ||, it Jrerrst srerar siienf3re / RMaNRI FoToel B AT

ofler Sul-erd ArcIfeld JAIRAT DI AAIEGT GGoll

zf'la TTL 1. o=t g R (i) srerar Rigia 24 it

C.

rigercas ||l adigror @ Ferrel Uz gradsedeit ol iRt

orTer

D. @eadt  |IV. =Rl uz @I foriqur o1él, dac 3= &I SeIPR! Sar 3 Sl 8l bl
ofex @& areran 31 381 3

il 3w o1 el 3 A At I gfom :
[Question ID = 3590][Question Description = S2_qSNz_PG_GP2_Q15]

A-lV, B -L, C-llL, D -l [Option ID = 14357]
-1ll, B -1I, C -1, D -IV [Option ID = 14358]
IV, B -1, C -II, D -1Il [Option ID = 14359]

1.

2. A
3. A
4. A-1,B-lll, C-Il, D -1V [Option ID = 14360]

Correct Answer :-
e A-lV,B-l, C-ll, D -l [Option ID = 14357]

11) Peer-to-peer communication is
HAGE A AADE DT AFYUYT 3 :

[Question ID = 3591][Question Description = S2_qSNz_PG_GP2_Q16]

1. Horizontal/ iferst

[Option ID = 14361]
2. Convoluted/3afera

[Option ID = 14362]
3. Non-transactional/3Iz - Jiasif¥s

[Option ID = 14363]
4. Authoritarian/siferarzarct

[Option ID = 14364]

Correct Answer :-
e Horizontal/giferst

[Option ID = 14361]

12) The main challenges of grapevine communication are:
A. Its formal nature
B. Distortion

C. Misunderstanding



D. Source anonymity
E. Conformity

Choose the correct answer from the options given below:

SIOIYAIG JFFYUCT Bl Faou1 gollferai 3 ?

A. s3rchl siiuanf¥e ggfer

B. fersuur

C. srcrawset

D. Ja sfoimpica

E. sropeudr

ofid o s1u fwseal & A A8} IR BT <RIl BT :

[Question ID = 3592][Question Description = S2_qSNz_PG_GP2_Q17]

. A, Band C only/dact A, B 3iiz C [Option ID = 14365]
. B, Cand D only/daea B, C siiz D [Option ID = 14366]
. C, D andE only/a3qe C, D siiz E [Option ID = 14367]
. A, Cand D only/a@act A, C 3liz D [Option ID = 14368]

A W N -

Correct Answer :-
e A, Band C only/aaa A, B siiz C [Option ID = 14365]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Students do not form part of the media audience
Reason R: Due to the all-pervasive digital technology, students have become interactive media users

In light of the above statements, choose the correct answer from the options given below

il 3t werel fRu s1e 3@ uep sifdraperst (Assertion A) @ %u 3 iz ¢RI 3@ PRYT (Reason R) & o 3 :
sifdrperot (A) : frenell, sfifar - ofiar @ swer oidl &

@Rt (R) : ad - cas B3fca Qef3rbl & Gerzdamu feneff soa: fRpzmefier #fif3en geisiaf gt s 3
IWRITP PYall D el A, ofld Bu faaseal 3 A A8 Iar o1 aRIe1 Hifste :

[Question ID = 3593][Question Description = S2_qSNz_PG_GP2_Q18]

. Both A and R are true and R is the correct explanation of A/(A) siiz (R) @il 311 8 3liz (R), (A) &t 3 =en & [Option ID = 14369]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) 31 &t & uog (R), (A) & 38 = o8t 8 [Option ID = 14370]
. Ais true but R is false/(A) e 3, aftpar (R) sri=r @ [Option ID = 14371]

. Ais false but R is true/(A) sricx 3, cifdpet (R) 31 3 [Option ID = 14372]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 2 2 3iR (R), (A) &t 38t mezn 3 [Option ID = 14369]

14) ldentify the CORRECT sequence of the following communication forms:
A. Mass

B. Public

C. Group

D. Inter-personal

E. Intra-personal

Choose the correct answer from the options given below

forgatifepa @ - Fasul @ Al siglaa bl usdre Hifse ¢
ol - AT
SToldl

o

A.

B.

C. w8
D. siaz - Jaftpd
E.

3fodl: - dRARRPD
ofix feu a1 fameul i A A8 Iz b1 RIel BT :



[Question ID = 3594][Question Description = S2_qSNz_PG_GP2_Q19]

1. A, D, E, B, C [Option ID = 14373]
2. D, E, B, C, A [Option ID = 14374]
3. E, D, C, B, A[Option ID = 14375]
4. B, C, A, D, E [Option ID = 14376]

Correct Answer :-
e A D, E, B, C[Option ID = 14373]

15) Match List | with List Il

List | List Il

Types of noise in communication/Characteristic feature

A. Physical I. Barriers within the sender or receiver
B. Physiological 1. Wandering thoughts

C. Psychological lll. Use of jargon

D. Semantic IV. Mechanical distortion

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSie :

xet -1 rxeh -1

(T 3 9k D YDbR) (3ifdreTigdTIe fadraars)

A. oy |. QU AT SBUIdl @ HEA AT
B. 9Rl: fapica® 1. sperorefier ferare

C. Feifsnford 1. fafdree - orssrachl @1 gRIleT

D. orecreffersiror IV. anfoqa fersuvr

il 3w o1 fcul 3 A At I gfom :
[Question ID = 3595][Question Description = S2_qSNz_PG_GP2_Q20]

A -1V, B -1, C-Il, D -lll [Option ID = 14377]
A-l, B -ll, C-lll, D -1V [Option ID = 14378]
A-lll, B -1V, C -1, D -1l [Option ID = 14379]
A-ll, B -lll, C -1V, D -I [Option ID = 14380]

AW N =

Correct Answer :-
e A-IV,B-I, C-Il, D-lll [Option ID = 14377]

16) The incomes of Ravi and Kavita are in the ratio 2:3 and their expenditures are in the ratio 3:5. If each saves ¥ 100,
then Ravi's income is

A 3fiz ofder &1 31 2 @ 3 @ 3rgurd 3 3 3R IoId R I 3iourd 3 @ 5 3 3PR yRw ¥ 100 wad o 3 dl A dl smra 3 ¢

[Question ID = 3596][Question Description = S2_qSNz_PG_GP2_Q21]
1. 2200

[Option ID = 14381]
2. 3600

[Option ID = 14382]
3. 3400

[Option ID = 14383]
4. 100

[Option ID = 14384]
Correct Answer :-
e 3200

[Option ID = 14381]

17) The new cost of a mobile which has been discounted by 15% is ¥ 3230. What was the cost of the mobile originally?
15 yferora & g o A1er Aldrse @I ol e X 3230 3 Hiarsel oI YRS Jed a=r o ?

[Question ID = 3597][Question Description = S2_qSNz_PG_GP2_Q22]
1. 3675

[Option ID = 14385]
2. 3650

[Option ID = 14386]
3. %3600

[Option ID = 14387]
4. %3800

[Option ID = 14388]



Correct Answer :-
o 33675

[Option ID = 14385]

18) The product of two positive consecutive odd integers is 1 less than six times their sum. One of the integers is
Sl "olIcId BHPIA AR Yuifas T IUIeIbe, Iold APThel D 6 - In A 1 A & Sloil 3 A v yuife 3 :

[Question ID = 3598][Question Description = S2_qSNz_PG_GP2_Q23]
1.7

[Option ID = 14389]
2.9

[Option ID = 14390]
3. 15

[Option ID = 14391]
4. 13

[Option ID = 14392]
Correct Answer :-
o 7

[Option ID = 14389]

19) Given below are two statements
Statement I: A number that has factors other than 1 and itself is called a composite number
Statement Il: 23 is the only odd prime number

In light of the above statements, choose the correct answer from the options given below

il ol @l fdu sre 3 ¢

ool - | ;v A, RSraet 1 3k asizen =i & suade i 8, U AMBe FeAT AT AYTh AW B Sl 3
@l - || : daet 23 & v fauet w6 =0 3

JURITP Dol D 3Tl 3, ol fSu 31u fameul 3 A A8l 3= @1 =6t HifSTe &

[Question ID = 3599][Question Description = S2_qSNz_PG_GP2_Q24]
1. Both Statement | and Statement Il are true/aerer | 3ii2 |1 Sleil e &

[Option ID = 14393]
2. Both Statement | and Statement Il are false/a@ermr | 3iz || Glail sRicT &

[Option ID = 14394]
3. Statement | is true but Statement Il is false/@eror | 31 3, ifdbor dert || sRiT 8

[Option ID = 14395]
4. Statement | is false but Statement Il is true/aeror | arica 3, Afdper aweret 1 Jdcer 3

[Option ID = 14396]
Correct Answer :-
e Both Statement | and Statement Il are true/wmerer | 3iiz 11 ol 3 3

[Option ID = 14393]

20) Match List | with List I

List | List I

Three numbers Their average
A. 40, 32, 33 |I. 38

B. 35, 36, 40 |ll. 36

C. 33, 36, 39 |lll. 35

D. 30, 38,46 |IV. 37
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 Rreht -

(cfie1 Fizeme) (SotepT 3R (Iizs=) )
A. 40, 32, 33 . 38

B. 35, 36, 40 1. 36

C. 33, 36, 39 Il. 35

D. 30, 38, 46 IvV. 37




offa fou o1 frpeul 3 3 A I gforw ©

[Question ID = 3600][Question Description = S2_qSNz_PG_GP2_Q25]
1. A-IV,B-1,C-1l,D-1lI

[Option ID = 14397]
2. A-1I,B-1IV,C-1,D-1ll

[Option ID = 14398]
3. A-1L,B-1V,C-1I,D-1

[Option ID = 14399]
4. A-IV,B-1l,C-1ll,D-1

[Option ID = 14400]
Correct Answer :-
e A-IV,B-1,C-Il,D-1ll
[Option ID = 14397]

21) Advertising "Testimonials” are frequent instances of this fallacy
'gaAIu1 I fdsiue @l fordeifciiRad 3 3 fopaa Sy o> agar ol dIcl IGI8WT & ?

[Question ID = 3601][Question Description = S2_qSNz_PG_GP2_Q26]
1. Argumentum ad ignorantiam (ignorance)/3iefdiocat Bs sooilfoesa (3rroldr)

[Option ID = 14401]
2. Argumentum ad Misericordiam (appeal to pity)/smediocs us ifsmifSRier (eI &I E)E)

[Option ID = 14402]
3. Argumentum ad Populum/se{ficea s urgets

[Option ID = 14403]
4. Argumentum ad Verecundiam (authority)/sme=fdlocat us Rypfosem (YIfidR)

[Option ID = 14404]
Correct Answer :-
e Argumentum ad ignorantiam (ignorance)/smsdiocd us sooifoeamEl (3ISToeldn)

[Option ID = 14401]

22) If 'some women are writers is true, which of the following codes are CORRECT
A. 'All women are writers' false

B. 'All women are writers' is true

C. 'No women are writers' is false

D. 'Some women are not writers' is undetermined

Choose the correct answer from the options given below:

afe ' o Afdars afRaem § aca 3, a foraferRaa 3 A oler A o A8 & ?
A. ‘it aifdemd cifgerd 3 sriea 3

B. 'w3it s1fdcme cifRgome & aea 3

C. '@ afden aRaew®r off 3’ sr1ca 3

D. 'go afdend cffgen ol & siforerifya &

il fou s1e frpeul 3 A I IR DI TI6T HIfSIE ¢

[Question ID = 3602][Question Description = S2_qSNz_PG_GP2_Q27]
1. Aand B only/@act A siiz B

[Option ID = 14405]
2. Band C only/d@aer B siiz C

[Option ID = 14406]
3. Cand D only/dae C siiz D

[Option ID = 14407]
4. Band D only/dac B siz D

[Option ID = 14408]
Correct Answer :-
e Aand B only/dact A 3i B
[Option ID = 14405]



23) Which of the following code correctly represents the figure and mood of the argument?
No musicians are Italians

All barbers are Musicians

Therefore, No barbers are Italians

Choose the correct answer from the options given below

forgotferRaa 31 3 PBlel AT Gc AT B PR dUT YPR Bl A3l foreuvr asar 37
I Foflamr secfl ®r ofél 3

Mt ond FeliaeR &

3IeT: I olré sceil @I o1dl 3

[Question ID = 3603][Question Description = S2_qSNz_PG_GP2_Q28]
1. EAE-1/$u$-1|

[Option ID = 14409]
2. EAE-I/$ug- I

[Option ID = 14410]
3. EAE-II/Ses- Il

[Option ID = 14411]
4. EAE-IV/§ug- IV

[Option ID = 14412]
Correct Answer :-
® EAE-I1/§dus-|
[Option ID = 14409]

24) If a jar is temporarily removed from its locus the non-existence of the jar on the floor is
afe fpft sacdaret (siR) @1 srens WUA 1ol Feurel (clibr) A el f3ar sie q wef uz addrer T soif3dra 3 :
[Question ID = 3604][Question Description = S2_qSNz_PG_GP2_Q29]

1. Upamana (Comparison)/3udrel (dcioll) (eif¥sior)

[Option ID = 14413]
2. Arthapatti (Implication)/srerfufer (forfaaref) (socfiadoror)

[Option ID = 14414]
3. Anumana (Inference)/ 3ol (soW31)

[Option ID = 14415]
4. Anuplabdhi (Non-cognition)/ siequcifeer (ofot - dfdo19ror)

[Option ID = 14416]

Correct Answer :-

e Upamana (Comparison)/3udiol (dqctol) (cbaifsior)
[Option ID = 14413]

25) The knowing self knows objects through the instrumentality of the Indriyas and the existence of the Indriya, is proved
by

ST SRI aq3il @ sfogdl @ ATeel SR SITel Sl 3 3R sfogil @1 sif¥ara yanfora e sirar 3

[Question ID = 3605][Question Description = S2_qSNz_PG_GP2_Q30]

1. Arthapatti/sterfufer grr

[Option ID = 14417]
2. Anuplabdhi/ srquetfeer gt

[Option ID = 14418]
3. Anumana/3ig#iel GRI

[Option ID = 14419]
4. Upamana/3udiiel gRI

[Option ID = 14420]
Correct Answer :-
o Arthapatti/smerfufer grar
[Option ID = 14417]

26) Match List | with List Il

IList | List Il




(Activity) (File Type)
IA. Recording a song to play on an iPod l. .zip

B. Saving a video Il. .mp3

C. Sending a photo to someone using your mobile|lll. .mp4
D. Compressing a folder of files IV. .jpeg

Choose the correct answer from the options given below:

gl -1 @ 3 -1l A Fgafera Hifste ¢

oret -1 Rreh -1l

(foge - @erra) (wrIscl & goR)
A. gD 3ré dis uz sfia seior @ fere R¥ais war I. .35 ané ot
B. v difsear Adra won Il. .oar di 3
C. 31Ul Adrsel Bl YAPI B U b2l & WIeT fston ll. .oa di 4
D. U BIEA @ BIcs: Bl BIYA Bl IV, .31 di 5 sit

il feu aru faasedl 3 A 8 3R gforu :

[Question ID = 3606][Question Description = S2_qSNz_PG_GP2_Q31]
1. A-I,B-ll,C-1,D-IV

[Option ID = 14421]
2. A-IV,B-1Il,C-1I,D-I

[Option ID = 14422]
3. A-1ILLB-Il,C-1V,D -1

[Option ID = 14423]
4. A-11,B-11I,C-1IV,D-I

[Option ID = 14424]
Correct Answer :-
e A-I,B-Ill,C-1,D-1IV
[Option ID = 14421]

27) Kavita uses a Wifi adapter to connect the computer to an interactive whiteboard.

Which one of these statements is false?

BT T arf - GBI TSR BT PRI B Bl U ciicAipnofier arsedls 3 siisol 3 ol 3 forolifpa werel 3 3 Bla 3R 8 ?

[Question ID = 3607][Question Description = S2_qSNz_PG_GP2_Q32]
1. Wifi has a greater range than Bluetooth/zIse IS @1 35 scf cer 3 Surer 8ir 8

[Option ID = 14425]
2. Wifi signals are capable of passing through solid objects/ar$ wr§ @ Risorct ol uarelf & dta 3 off uR w2ol 3 9wl &

[Option ID = 14426]
3. Bluetooth has a greater range than Wifi/sciger @t 35t ar$ - wr$ 3 serret aiar 3

[Option ID = 14427]
4. Bluetooth signals are capable of passing through solid objects/scp ¢l @ Roiet 311 ucrelf @ dfa 3 oft ur w2 3 et &

[Option ID = 14428]

Correct Answer :-
e Wifi has a greater range than Bluetooth/zrse €IS @I 331 sc],c¥ 3 SRACT 8l &

[Option ID = 14425]

28) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The Internet is very beneficial to students in all aspects

Reason R: The Internet opens doorways to a wealth of information, knowledge and educational resources thereby increasing
opportunities for learning in and beyond the classroom

In light of the above statements, choose the correct answer from the options given below

oiid ol Pl fGu 3w 3 @ U Ifdrdeat (Assertion A) @ ¥u 3 3R 2RI 3D PRI (Reason R) @5 »u 3 :
sifdrperet (A) @ seole feneffl & fere il efScmlur A aga swurer aner 3

®RuT (R) : sedic Faesil, ol 3R 9igifdTe - JArersll Bl YgRar oI $R IgIfed o & PRI B & 3062 AT WA W APHH D agol D
3AAZ YO 2l 3

SURITh Doil D Il A, ofld fGu famcdl 3 A 7l 3a= &1 wRIel Hifsrw :



[Question ID = 3608][Question Description = S2_qSNz_PG_GP2_Q33]
1. Both A and R are true and R is the correct explanation of A/(A) 3l (R) gleil 31 2 3z (R), (A) &t 3 careen 3

[Option ID = 14429]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 31 & udoq (R), (A) 6 3 w=men ot 8

[Option ID = 14430]
3. Ais true but R is false/(A) e 3, aifdper (R) 3ricr 3

[Option ID = 14431]
4. Ais false but R is true/(A) sric 3, cifepal (R) 31 2

[Option ID = 14432]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 311 & 3i2 (R), (A) &I 3l =iz 8

[Option ID = 14429]

29) Identify the CORRECT order of the following data transfer rates measured in bits per second (bps) ranked from largest
to smallest

A. 1500 kbps
B. 1500 Mbps
C. 1 Mbps
D. 1 Gbps

Choose the correct answer from the options given below

it gfr ABs (@t o w2r) 3 A 51T 3T - SHEaIRVI - T D §3 A VI A TP B UsHIe! BB
A. 1500 o t di v

B. 1500 war & df o1

C. 1 ga & dt v

D. 1 oft &t ot vt

il fou s1u frapeul 3 2 & 3R BT a6l HIfSIE ©

[Question ID = 3609][Question Description = S2_qSNz_PG_GP2_Q34]
1. D,B, A, C

[Option ID = 14433]
2. B,D,C, A

[Option ID = 14434]
3. B,A,D,C

[Option ID = 14435]
4. B,D, A C

[Option ID = 14436]

Correct Answer :-
e D B,AC

[Option ID = 14433]

30) Given below are two statements
Statement I: You can add attachments of any file size to an email.
Statement Il: You can only send emails from a laptop computer.

In light of the above statements, choose the correct answer from the options given below

il &1 weror Ru are 3 :

@era - | : 3mu et 3ht Brdar A1EST @I S 3 3icaAdc D WU A SIS ADA &
el - |l : 3 dact &y - 3u wIRgez A & e NS ADA 3

SURITS el B 3MIelid #, ofi fGu fpcul 3 A I IR BT TR DI :

[Question ID = 3610][Question Description = S2_qSNz_PG_GP2_Q35]
1. Both Statement | and Statement Il are true/erer | 3ii2 || Slell 3 &

[Option ID = 14437]
2. Both Statement | and Statement Il are false/@ermr | 3iz || Glail sRiT &

[Option ID = 14438]



3. Statement | is true but Statement Il is false /et | 31 2, cifdbor @werat || 3RIT 2

[Option ID = 14439]
4. Statement | is false but Statement Il is true/aeret | srRica 3, aifdbet weret | Jer 3

[Option ID = 14440]

Correct Answer :-
e Both Statement | and Statement Il are true/wmerm | 3iiz |1 Sloll 3 &

[Option ID = 14437]

31) What are essential for the formation of photochemical smog?
A. Oxides of sulphur

B. Oxides of Nitrogen

C. Volatile Organic Compounds

D. Water Vapour

E. Sunlight

Choose the correct answer from the options given below:

gPI9I - IRIRIfOIP &fd - PIee D dolol D 1T Blol A HTARADB & ?
A. IcB3 D sifass

B. oIEgisial @ sifass

C. aruefia erdfore iifdrem

D. Sterarsu

E. 3 - goorer

il feu aru faedl 3 A A8 IR D1 WRIet B :

[Question ID = 3611][Question Description = S2_qSNz_PG_GP2_Q36]
1. A, Band Conly/@act A, B 3z C

[Option ID = 14441]
2. A, B, Cand D only/dae A, B, C 3iiz D

[Option ID = 14442]
3. B, C, D and E only/daer B, C, D iz E

[Option ID = 14443]
4. B, Cand E only/a@ac1 B, C iR E

[Option ID = 14444]

Correct Answer :-
e A, Band Conly/dac A, B siiz C

[Option ID = 14441]

32) What is the CORRECT sequence of occurrence of various atmospheric layers from earth's surface?
A. Thermosphere

B. Stratosphere

C. Mesosphere

D. Troposphere

Choose the correct answer from the options given below

gedl & Adas A HuR faftieor arpiscila udl &b sufderfer or 38 @of = 8 ?
A. amaavsda

B. mramasvsa

C. seaavS

D. siv@ose

il fou s1u frpeul 3 A & IR BT a6l HISIE ¢

[Question ID = 3612][Question Description = S2_qSNz_PG_GP2_Q37]
1. D,B, A, C

[Option ID = 14445]



2. D,B,C, A

[Option ID = 14446]
3.B,D,C, A

[Option ID = 14447]
4. C,B,D, A

[Option ID = 14448]
Correct Answer :-
e D B,AC

[Option ID = 14445]

33) Which one of the following climate change proxies is not the terrestrial biotic climatic proxy?
forgatferRaa 3 3 Plat sterary uf¥ader yferadft, uif¥fa Sia srerary gferad) ot 3 ?

[Question ID = 3613][Question Description = S2_qSNz_PG_GP2_Q38]
1. Boreholes/fig - ff5g (4R - alc=d)

[Option ID = 14449]
2. Leaf physiology/uq - @bt

[Option ID = 14450]
3. Tree ring/qs1 - acrRx

[Option ID = 14451]
4. Pollen and spore analysis/uzermur vd disiy frecstor

[Option ID = 14452]

Correct Answer :-

e Boreholes/fg - fésg (dR - lc21)
[Option ID = 14449]

34) A high amount of BOD (Biochemical Oxygen Demand) in a water body represents
A. Highly Polluted Water

B. Presence of a large amount of organic materials

C. Presence of good amount dissolved oxygen

D. Severely limited aquatic life

Choose the correct answer from the options given below:

s SIcorT 3 & 3l €1 (SiaRRIrIfora - sifa=fistol - Jifs1) 6 sifere sy yofdfa o=l 3 ¢
A. srcafires gefta st

B. wrdford ucrelf &t Srer gy b suf¥-erfer

C. R sifa=fisret &t srcdl gy & sufFerfer

D. srcaferes Mifdra siclir Sfiaor

il f3u s1e fraseul 3 A A IR BI Il BRI ©

[Question ID = 3614][Question Description = S2_qSNz_PG_GP2_Q39]
1. A, B, Cand D only/A, B, C 3z D

[Option ID = 14453]
2. B, Cand D only/@aa B, C siiz D

[Option ID = 14454]
3. A, Cand D only/@ae A, C 3z D

[Option ID = 14455]
4. A, Band D only/daa A, B aie D

[Option ID = 14456]

Correct Answer :-

e A B,CandDonly/A, B, C3iz D
[Option ID = 14453]

35) Which one of the following is a component of a Sewage Treatment Plant (STP)?
forgotferfR3aa 3 3 Dol U FeTsicl - foreuvt - FRiq (Ta & i) @1 v aew 3 ?

[Question ID = 3615][Question Description = S2_qSNz_PG_GP2_Q40]
1. UV source/?, dl. 3



[Option ID = 14457]
2. lon exchanger/sirIor vaicisiz

[Option ID = 14458]
3. Grit chamber/aci®ur - yors

[Option ID = 14459]
4. Cyclone/3msdrcitet

[Option ID = 14460]

Correct Answer :-
e UV source/z, dt. 3a

[Option ID = 14457]

36) According to the NEP- 2020, a Master's Programme may be of:
A. one-year duration

B. two-year duration

C. three-year duration

D. four-year duration

E. five-year duration

Choose the correct answer from the options given below:

wal. 5. Ul - 2020 & 3[GRIR, IAMADIIR UIGRIDI 3l ADI 3 &
A. v ad & smafr a1

B. <1 o bl sraf?r @1

C. ot adf <t sraf?r a1

D. ar ad i srafer o1

E. ufa ad & smaf?r a1

il feu sru faredl 3 A A8 IR D1 WRIel B :

[Question ID = 3616][Question Description = S2_qSNz_PG_GP2_Q41]
1. A, B and E only/d>act A, B siiz E

[Option ID = 14461]
2. A, B and C only/d@aer A, B iz C

[Option ID = 14462]
3. B, Cand E only/@aa B, C siz E

[Option ID = 14463]
4. Band D only/a@ac B siz D

[Option ID = 14464]

Correct Answer :-
e A, BandE only/@ae A, B3R E

[Option ID = 14461]

37) According to NEP-2020, the Higher Education Commission of India (HECI) will be set up:

A. to replace the UGC for maintaining quality and standard in higher education institutions

B. as an umbrella institution to look into regulation accreditation, funding and academic standard
C. as aregulatory authority to maintain quality and standard

D. to maintain academic standard of higher education institutions

Choose the correct answer from the options given below:

wal. 3. Ul. 2020 @ S6RIR, $IRA I 3 {91811 IRIST Fenfire fp= Simen :

A. 350 o1 3ca dieifdres Awesil 3 SUIadl vd ¥R Follt 3ol D ferw yfer-emast
B. faformtel, Yrariol, forf2rrer 3iiz Sigifres Faz &l Sxasiret 3q Oqm Az D »U i
C. v fAfoRIEI® Il D WU I VI Ud IR Jollu 3ol D fere

D. 3ca digifdres Azeamsii @ 9igifdres Ia= &l dolle Rdal @ fae

it fou s1e frpeul 9 A I IR DI TI6l HIfSIE ¢



[Question ID = 3617][Question Description = S2_qSNz_PG_GP2_Q42]
1. Aand B only/dact A siiz B

[Option ID = 14465]
2. B, C and D only/dae B, C aie D

[Option ID = 14466]
3. A, Cand D only/daet A, C iz D

[Option ID = 14467]
4. A, B, CandD/A, B, C sz D

[Option ID = 14468]
Correct Answer :-
e A and B only/@act A siiz B

[Option ID = 14465]

38) Match List | with List Il

List | List Il

Regulatory institutions as per NEP-2020  |Responsibilities

A. NHERC |. Academic standards
B. NAC Il. Accreditation

C. HEGC Ill. Regulation

D. GEC IV. Financing

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSre :

oxet -1 ot -l

(ot 5. Ul. & IGRIR fAformca® Jireri) (c1Rr)

A. goLuaLs.3R.AL |. oteifdrd - IR
B. wor.udl Il. gcarmer

C. vassii. 11l. farformerct

D. sft.s.2ft IV. forférier

il 3w o1 el 3 A At IR gfom :

[Question ID = 3618][Question Description = S2_qSNz_PG_GP2_Q43]
1. A-UILB-I,C-1,D-1IV

[Option ID = 14469]
2. A-Il,B-1I,C-1V,D- |

[Option ID = 14470]
3. A-1L,B-1I,C-1V,D-I

[Option ID = 14471]
4. A-IV,B-1I,C-1II,D-1

[Option ID = 14472]
Correct Answer :-
e A-IILB-Il,C-1,D-1IV

[Option ID = 14469]

39) According to NEP-2020, National Research Foundation (NRF) may be established to
wol.s.Ul. 2020 @ 3R, A 31Io¢iol YferesTol (Tol.31R.ut.) Feftrd fop=m i Aoar 3 @

[Question ID = 3619][Question Description = S2_qSNz_PG_GP2_Q44]
1. Promote doctoral/post-doctoral research/Siac3c 3iiR dike sfacc ot @ YieAsol 3G

[Option ID = 14473]
2. Promote fundamental scientific research/smemagI dsifore olier @I giemfad ol

[Option ID = 14474]
3. Enable universities to establish research laboratories/feafderncrii ot oiter - YRieToncali bl FeIdoel @ Ao Follol 3

[Option ID = 14475]
4. Enable a culture of research to permeate through universities/faeafdemcril 3t ofter Jmpier B wIrd Blot B 018 o8 ALWT Tolloll

[Option ID = 14476]
Correct Answer :-
® Promote doctoral/post-doctoral research/sidac3c 3iiR Ul Sfac3c olitl D YAzl 3

[Option ID = 14473]

40) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R



Assertion A: Higher education in India has limited access particularly in socio-economically disadvantaged areas
Reason R: The research and innovation investment in India is only 0.69% of GDP

In light of the above statements, choose the most appropriate answer from the options given below

ofl 3l Berel fRu st 3@ uap sifdraperst (Assertion A) @ a3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :
aifdrperet (A) © ra 3 I<a - g & Hfda uga 3 fuwm: aREnie - snl¥fe dkEa giql #

BRI (R) : s 3 ofter 3ii? olararR forder Awe Mg 3curg (Sh3lul.) o1 dac 0.69% &

SWRITD Doil B HIClD 3, ofid e fiwcul 3 A Ad 3= &1 Tt Hifste ©

[Question ID = 3620][Question Description = S2_qSNz_PG_GP2_Q45]
1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciail 3t 3 3l (R), (A) &t 3 wmen &

[Option ID = 14477]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil 2l & u3oq (R), (A) &t Al = oidt &
[Option ID = 14478]

3. Ais correct but R is not correct/(A) 3@t @ uw3sq (R) &t oidt

[Option ID = 14479]
4. Ais not correct but R is correct/(A) 3@t o8t 8 udog (R) &t 3

[Option ID = 14480]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) sfiz (R) gleil 3@t 8 3k (R), (A) 6t 3@ e
[Option ID = 14477]

Topic:- GP_20NOV_C_SH1

1)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to “unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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The early feminist theory ignored among women, the issue of
yrRitte ordlag & Rigia 3 afdcnsii & fowafelRaa 3 A v #E DI seRere @2 &ar sk ?

[Question ID = 3621][Question Description = S2_qSNz_PG_GP2_Q46]
1. Enduring commonalities/3wd Am@meran
[Option ID = 14481]
2. Significant differences/asrayuf ficorart
[Option ID = 14482]
3. Inclusive factors/amoft dR®

[Option ID = 14483]
4. Oppressive elements/gaerRl dra

[Option ID = 14484]

Correct Answer :-
® Enduring commonalities/Aad JeireIAns

[Option ID = 14481]

2)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a 'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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Initially, the feminist theory veered around the problems of
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[Question ID = 3622][Question Description = S2_qSNz_PG_GP2_Q47]
1. Feminists around the world/fde«a #3 @ omRlarct

[Option ID = 14485]

2. North-American middle class white women /33t 3m@if¥cr @ ezt aof 6t «da aAfdeme
[Option ID = 14486]

3. Blacks and Latinos/ 3 siiz ciicfioft afderret

[Option ID = 14487]
4. ldentified women groups in different places/fdor - faroor el w2 fifea afder A

[Option ID = 14488]

Correct Answer :-
® Feminists around the world/frea oz @& amRtarct

[Option ID = 14485]

3)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions’.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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The analytical frameworks of western feminists were critiqued by Third world scholars as:

U oIRiaIfRil @ fepdsuvicae Gidl & Jefisn dierl gforn @ fasmell orr bt u 3 & o ?

[Question ID = 3623][Question Description = S2_qSNz_PG_GP2_Q48]
1. they had different societal agendas/fésot - féoor et el wrfadr

[Option ID = 14489]
2. radical and irrelevant/siferarct siiz gRifdrs »u 9



[Option ID = 14490]
3. they had to be repositioned in different contexts/fafdreor et 3t yor:zemuer ool & for@

[Option ID = 14491]
4. they had to fit in a discursive discourse/fddaefier Yader @ de=r

[Option ID = 14492]

Correct Answer :-
e they had different societal agendas/fdreor - firoor m9ieT Jdeft BrRia
[Option ID = 14489]

4)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to “unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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Post-colonial, western feminists were asked to

IR - situforafdre urtirea ordtarf A a=ir sl srRIm ?

[Question ID = 3624][Question Description = S2_qSNz_PG_GP2_Q49]
1. Free themselves from masculinist ideologies/gauarct Rigidl 3t Fa=i &I Feb Dol D e

[Option ID = 14493]
2. Disengage themselves from the idea of Third world woman'./za @1 dizt gform &t aifdemait 3 sicer B2l D fere

[Option ID = 14494]
3. Challenge the Third world patriarchy/fizmt gforr &t ficRraraaar ot goildt ot @ e

[Option ID = 14495]
4. Deconstruct their status as intellectuals/gfgsfidt @ u 3t ameft Reifer @1 oM B0t D ferw

[Option ID = 14496]

Correct Answer :-



e Free themselves from masculinist ideologies/yauarct RBrgidl A ¥®=i Pl b Dol D o

[Option ID = 14493]

5)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective ‘we’ of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world’' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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The passage speaks of

s aren9r fopaY Adfta & ?

[Question ID = 3625][Question Description = S2_qSNz_PG_GP2_Q50]
1. ldentity issues in feminist studies/em3lard srerrell 3 usaror Al 35

[Option ID = 14497]
2. Authority of western feminist scholars/urgneI siRtact fRigrell o1 giftier

[Option ID = 14498]
3. Experience of Third world feminists/drt gform @ smtaifeRil @1 siopera

[Option ID = 14499]
4. ldeological constructs all over the world/y3t gforr 3t danfse forfdffer

[Option ID = 14500]

Correct Answer :-
® |dentity issues in feminist studies/sm3tarct sreermeil 3 usarer sl 75

[Option ID = 14497]
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[Question ID = 6159][Question Description = Q1_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23826]
2. 2 [Option ID = 23827]
3. 3 [Option ID = 23828]
4. 4 [Option ID = 23829]

Correct Answer :-
e 1 [Option ID = 23826]
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[Question ID = 6160][Question Description = Q2_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23830]
2. 2 [Option ID = 23831]
3. 3 [Option ID = 23832]
4. 4 [Option ID = 23833]

Correct Answer :-
e 1 [Option ID = 23830]

HCE R .

1. TR
2. OB
3. AU B
4. {0 B

[Question ID = 6161][Question Description = Q3_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23834]
2. 2 [Option ID = 23835]
3. 3 [Option ID = 23836]
4. 4 [Option ID = 23837]

Correct Answer :-
e 1 [Option ID = 23834]
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[Question ID = 6162][Question Description = Q4_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23838]
2. 2 [Option ID = 23839]
3. 3 [Option ID = 23840]
4. 4 [Option ID = 23841]

Correct Answer :-
e 1 [Option ID = 23838]
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[Question ID = 6163][Question Description = Q5_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23842]
2. 2 [Option ID = 23843]
3. 3 [Option ID = 23844]
4. 4 [Option ID = 23845]

Correct Answer :-
e 1 [Option ID = 23842]
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[Question ID = 6164][Question Description = Q6_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23846]
2. 2 [Option ID = 23847]
3. 3 [Option ID = 23848]
4. 4 [Option ID = 23849]

Correct Answer :-
e 1 [Option ID = 23846]
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[Question ID = 6165][Question Description = Q7_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23850]
2. 2 [Option ID = 23851]
3. 3 [Option ID = 23852]
4. 4 [Option ID = 23853]

Correct Answer :-
e 1 [Option ID = 23850]
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[Question ID = 6166][Question Description = Q8_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23854]
2. 2 [Option ID = 23855]
3. 3 [Option ID = 23856]
4. 4 [Option ID = 23857]

Correct Answer :-
e 1 [Option ID = 23854]
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[Question ID = 6167][Question Description = Q9_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23858]
2. 2 [Option ID = 23859]
3. 3 [Option ID = 23860]
4. 4 [Option ID = 23861]



Correct Answer :-
e 1 [Option ID = 23858]
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[Question ID = 6168][Question Description = Q10_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23862]
2. 2 [Option ID = 23863]
3. 3 [Option ID = 23864]
4. 4 [Option ID = 23865]

Correct Answer :-
e 1 [Option ID = 23862]
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[Question ID = 6169][Question Description = Q11_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23866]
2. 2 [Option ID = 23867]
3. 3 [Option ID = 23868]
4. 4 [Option ID = 23869]

Correct Answer :-
e 1 [Option ID = 23866]
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[Question ID = 6170][Question Description = Q12_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23870]
2. 2 [Option ID = 23871]
3. 3 [Option ID = 23872]
4. 4 [Option ID = 23873]

Correct Answer :-
e 1 [Option ID = 23870]
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[Question ID = 6171][Question Description = Q13_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23874]
2. 2 [Option ID = 23875]
3. 3 [Option ID = 23876]
4. 4 [Option ID = 23877]

Correct Answer :-
e 1 [Option ID = 23874]
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[Question ID = 6172][Question Description = Q14_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23878]
2. 2 [Option ID = 23879]
3. 3 [Option ID = 23880]
4. 4 [Option ID = 23881]

Correct Answer :-
e 1 [Option ID = 23878]
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[Question ID = 6173][Question Description = Q15_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23882]
2. 2 [Option ID = 23883]
3. 3 [Option ID = 23884]
4. 4 [Option ID = 23885]

Correct Answer :-
e 1 [Option ID = 23882]
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[Question ID = 6174][Question Description = Q16_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23886]
2. 2 [Option ID = 23887]
3. 3 [Option ID = 23888]
4. 4 [Option ID = 23889]

Correct Answer :-
e 1 [Option ID = 23886]
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[Question ID = 6175][Question Description = Q17_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23890]
2. 2 [Option ID = 23891]
3. 3 [Option ID = 23892]
4. 4 [Option ID = 23893]

Correct Answer :-
e 1 [Option ID = 23890]
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[Question ID = 6176][Question Description = Q18_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23894]
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2. 2 [Option ID = 23895]
3. 3 [Option ID = 23896]
4. 4 [Option ID = 23897]

Correct Answer :-
e 1 [Option ID = 23894]
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[Question ID = 6177][Question Description = Q19_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23898]
2. 2 [Option ID = 23899]
3. 3 [Option ID = 23900]
4. 4 [Option ID = 23901]

Correct Answer :-
e 1 [Option ID = 23898]
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[Question ID = 6178][Question Description = Q20_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23902]
2. 2 [Option ID = 23903]
3. 3 [Option ID = 23904]
4. 4 [Option ID = 23905]

Correct Answer :-
e 1 [Option ID = 23902]
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[Question ID = 6179][Question Description = Q21_52_qSNz_PG_CHI_A]
1. 1 [Option ID = 23906]
2. 2 [Option ID = 23907]
3. 3 [Option ID = 23908]
4. 4 [Option ID = 23909]

e

Correct Answer :-
e 1 [Option ID = 23906]
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[Question ID = 6180][Question Description = Q22_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23910]
2. 2 [Option ID = 23911]
3. 3 [Option ID = 23912]
4. 4 [Option ID = 23913]



Correct Answer :-
e 1 [Option ID = 23910]
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[Question ID = 6181][Question Description = Q23_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23914]
2. 2 [Option ID = 23915]
3. 3 [Option ID = 23916]
4. 4 [Option ID = 23917]

Correct Answer :-
e 1 [Option ID = 23914]
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[Question ID = 6182][Question Description = Q24_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23918]
2. 2 [Option ID = 23919]
3. 3 [Option ID = 23920]
4. 4 [Option ID = 23921]

Correct Answer :-
e 1 [Option ID = 23918]
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[Question ID = 6183][Question Description = Q25_52_qSNz_PG_CHI_A]
1. 1 [Option ID = 23922]
2. 2 [Option ID = 23923]
3. 3 [Option ID = 23924]
4. 4[Option ID = 23925]

Correct Answer :-
e 1 [Option ID = 23922]
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[Question ID = 6184][Question Description = Q26_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23926]
2. 2 [Option ID = 23927]
3. 3 [Option ID = 23928]
4. 4 [Option ID = 23929]

Correct Answer :-
e 1 [Option ID = 23926]
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[Question ID = 6185][Question Description = Q27_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23930]
2. 2 [Option ID = 23931]
3. 3 [Option ID = 23932]
4. 4 [Option ID = 23933]

Correct Answer :-
e 1 [Option ID = 23930]

[Question ID = 6186][Question Description = Q28_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23934]
2. 2 [Option ID = 23935]
3. 3 [Option ID = 23936]
4. 4 [Option ID = 23937]

Correct Answer :-
e 1 [Option ID = 23934]
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[Question ID = 6187][Question Description = Q29_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23938]
2. 2 [Option ID = 23939]
3. 3 [Option ID = 23940]
4. 4 [Option ID = 23941]

Correct Answer :-
e 1 [Option ID = 23938]
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[Question ID = 6188][Question Description = Q30_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23942]
2. 2 [Option ID = 23943]
3. 3 [Option ID = 23944]
4. 4 [Option ID = 23945]

Correct Answer :-
e 1 [Option ID = 23942]
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[Question ID = 6189][Question Description = Q31_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23946]
2. 2 [Option ID = 23947]
3. 3 [Option ID = 23948]
4. 4 [Option ID = 23949]

Correct Answer :-
e 1 [Option ID = 23946]
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[Question ID = 6190][Question Description = Q32_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23950]
2. 2 [Option ID = 23951]
3. 3 [Option ID = 23952]
4. 4 [Option ID = 23953]
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Correct Answer :-
e 1 [Option ID = 23950]
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[Question ID = 6191][Question Description = Q33_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23954]
2. 2 [Option ID = 23955]
3. 3 [Option ID = 23956]
4. 4 [Option ID = 23957]

Correct Answer :-
e 1 [Option ID = 23954]
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[Question ID = 6192][Question Description = Q34_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23958]
2. 2 [Option ID = 23959]
3. 3 [Option ID = 23960]
4. 4 [Option ID = 23961]

Correct Answer :-
e 1 [Option ID = 23958]
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[Question ID = 6193][Question Description = Q35_52_qSNz_PG_CHI_A]
1. 1 [Option ID = 23962]
2. 2 [Option ID = 23963]
3. 3 [Option ID = 23964]
4. 4 [Option ID = 23965]

Correct Answer :-



e 1 [Option ID = 23962]
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[Question ID = 6194][Question Description = Q36_S2_qSNz_PG_CHI_A]
1 [Option ID = 23966]
2 [Option ID = 23967]
3 [Option ID = 23968]
4 [Option ID = 23969]
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Correct Answer :-
e 1 [Option ID = 23966]
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[Question ID = 6195][Question Description = Q37_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23970]
2. 2 [Option ID = 23971]
3. 3 [Option ID = 23972]
4. 4 [Option ID = 23973]

Correct Answer :-
e 1 [Option ID = 23970]
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[Question ID = 6196][Question Description = Q38_52_qSNz_PG_CHI_A]
1. 1 [Option ID = 23974]
2. 2 [Option ID = 23975]
3. 3 [Option ID = 23976]
4. 4 [Option ID = 23977]

Correct Answer :-
e 1 [Option ID = 23974]
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[Question ID = 6197][Question Description = Q39_S2_qSNz_PG_CHI_A]
1 [Option ID = 23978]
2 [Option ID = 23979]
3 [Option ID = 23980]
4 [Option ID = 23981]
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Correct Answer :-
e 1 [Option ID = 23978]
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[Question ID = 6198][Question Description = Q40_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23982]
2. 2 [Option ID = 23983]
3. 3 [Option ID = 23984]
4. 4 [Option ID = 23985]

Correct Answer :-
e 1 [Option ID = 23982]
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[Question ID = 6199][Question Description = Q41_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23986]
2. 2 [Option ID = 23987]

3. 3 [Option ID = 23988]
4. 4 [Option ID = 23989]

Correct Answer :-
e 1 [Option ID = 23986]
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[Question ID = 6200][Question Description = Q42_S2_qSNz_PG_CHI_A]
. 1 [Option ID = 23990]
2 [Option ID = 23991]
. 3 [Option ID = 23992]
4 [Option ID = 23993]
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Correct Answer :-
e 1 [Option ID = 23990]
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[Question ID = 6201][Question Description = Q43_S2_qSNz_PG_CHI_A]
1 [Option ID = 23994]
2 [Option ID = 23995]
3 [Option ID = 23996]
4 [Option ID = 23997]
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Correct Answer :-
e 1 [Option ID = 23994]
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[Question ID = 6202][Question Description = Q44_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 23998]
2. 2 [Option ID = 23999]
3. 3 [Option ID = 24000]
4. 4 [Option ID = 24001]

Correct Answer :-

e 1 [Option ID = 23998]
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[Question ID = 6203][Question Description = Q45_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24002]
2. 2 [Option ID = 24003]
3. 3 [Option ID = 24004]
4. 4 [Option ID = 24005]
Correct Answer :-

e 1 [Option ID = 24002]
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[Question ID = 6204][Question Description = Q46_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24006]
2. 2 [Option ID = 24007]
3. 3 [Option ID = 24008]
4. 4 [Option ID = 24009]

Correct Answer :-
e 1 [Option ID = 24006]
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[Question ID = 6205][Question Description = Q47_52_qSNz_PG_CHI_A]
1. 1 [Option ID = 24010]
2. 2 [Option ID = 24011]
3. 3 [Option ID = 24012]
4. 4 [Option ID = 24013]

Correct Answer :-
e 1 [Option ID = 24010]
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[Question ID = 6206][Question Description = Q48_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24014]
2. 2 [Option ID = 24015]
3. 3 [Option ID = 24016]
4. 4 [Option ID = 24017]

Correct Answer :-

& 1 [Option ID = 24014]
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[Question ID = 6207][Question Description = Q49_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24018]
2. 2 [Option ID = 24019]
3. 3 [Option ID = 24020]
4. 4 [Option ID = 24021]

Correct Answer :-
e 1 [Option ID = 24018]
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[Question ID = 6208][Question Description = Q50_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24022]
2. 2 [Option ID = 24023]
3. 3 [Option ID = 24024]
4. 4 [Option ID = 24025]

Correct Answer :-
e 1 [Option ID = 24022]
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[Question ID = 6209][Question Description = Q51_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24026]
2. 2 [Option ID = 24027]
3. 3 [Option ID = 24028]
4. 4 [Option ID = 24029]

Correct Answer :-
e 1 [Option ID = 24026]
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[Question ID = 6210][Question Description = Q52_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24030]
2. 2 [Option ID = 24031]
3. 3 [Option ID = 24032]
4. 4 [Option ID = 24033]

Correct Answer :-
e 1 [Option ID = 24030]
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[Question ID = 6211][Question Description = Q53_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24034]
2. 2 [Option ID = 24035]
3. 3 [Option ID = 24036]
4. 4 [Option ID = 24037]

Correct Answer :-
e 1 [Option ID = 24034]
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[Question ID = 6212][Question Description = Q54_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24038]
2. 2 [Option ID = 24039]
3. 3 [Option ID = 24040]
4. 4 [Option ID = 24041]

Correct Answer :-

e 1 [Option ID = 24038]
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[Question ID = 6213][Question Description = Q55_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24042]
2. 2 [Option ID = 24043]
3. 3 [Option ID = 24044]
4. 4 [Option ID = 24045]

Correct Answer :-
e 1 [Option ID = 24042]
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[Question ID = 6214][Question Description = Q56_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24046]
2. 2 [Option ID = 24047]
3. 3 [Option ID = 24048]
4. 4 [Option ID = 24049]

Correct Answer :-
e 1 [Option ID = 24046]
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[Question ID = 6215][Question Description = Q57_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24050]
2. 2 [Option ID = 24051]
3. 3 [Option ID = 24052]
4. 4 [Option ID = 24053]

Correct Answer :-
e 1 [Option ID = 24050]
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[Question ID = 6216][Question Description = Q58_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24054]
2. 2 [Option ID = 24055]
3. 3 [Option ID = 24056]
4. 4 [Option ID = 24057]

Correct Answer :-
e 1 [Option ID = 24054]
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[Question ID = 6217][Question Description = Q59_52_qSNz_PG_CHI_A]
1. 1 [Option ID = 24058]
2. 2 [Option ID = 24059]
3. 3 [Option ID = 24060]
4. 4 [Option ID = 24061]

Correct Answer :-
e 1 [Option ID = 24058]
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[Question ID = 6218][Question Description = Q60_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24062]

2. 2 [Option ID = 24063]

3. 3 [Option ID = 24064]

4. 4 [Option ID = 24065]

Correct Answer :-

e 1 [Option ID = 24062]
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[Question ID = 6219][Question Description = Q61_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24066]
2. 2 [Option ID = 24067]
3. 3 [Option ID = 24068]
4. 4 [Option ID = 24069]
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Correct Answer :-
e 1 [Option ID = 24066]
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[Question ID = 6220][Question Description = Q62_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24070]
2. 2 [Option ID = 24071]
3. 3 [Option ID = 24072]
4. 4 [Option ID = 24073]
Correct Answer :-
e 1 [Option ID = 24070]
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[Question ID = 6221][Question Description = Q63_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24074]
2. 2 [Option ID = 24075]
3. 3 [Option ID = 24076]
4. 4 [Option ID = 24077]

Correct Answer :-

e 1 [Option ID = 24074]
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[Question ID = 6222][Question Description = Q64_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24078]
2. 2 [Option ID = 24079]
3. 3 [Option ID = 24080]
4. 4 [Option ID = 24081]

Correct Answer :-
e 1 [Option ID = 24078]
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[Question ID = 6223][Question Description = Q65_52_qSNz_PG_CHI_A]
1. 1 [Option ID = 24082]
2. 2 [Option ID = 24083]
3. 3 [Option ID = 24084]
4. 4 [Option ID = 24085]

Correct Answer :-
e 1 [Option ID = 24082]
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[Question ID = 6224][Question Description = Q66_52_qSNz_PG_CHI_A]
1. 1 [Option ID = 24086]
2. 2 [Option ID = 24087]
3. 3 [Option ID = 24088]
4. 4 [Option ID = 24089]

Correct Answer :-
e 1 [Option ID = 24086]
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[Question ID = 6225][Question Description = Q67_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24090]
2. 2 [Option ID = 24091]
3. 3 [Option ID = 24092]
4. 4 [Option ID = 24093]

Correct Answer :-
e 1 [Option ID = 24090]
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[Question ID = 6226][Question Description = Q68_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24094]
2. 2 [Option ID = 24095]
3. 3 [Option ID = 24096]
4. 4 [Option ID = 24097]

Correct Answer :-
e 1 [Option ID = 24094]
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[Question ID = 6227][Question Description = Q69_S2_qSNz_PG_CHI_A]
1 [Option ID = 24098]
2 [Option ID = 24099]
3 [Option ID = 24100]
4 [Option ID = 24101]
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Correct Answer :-
e 1 [Option ID = 24098]
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[Question ID = 6228][Question Description = Q70_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24102]
2. 2 [Option ID = 24103]
3. 3 [Option ID = 24104]
4. 4 [Option ID = 24105]

Correct Answer :-
e 1 [Option ID = 24102]
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[Question ID = 6229][Question Description = Q71_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24106]
2. 2 [Option ID = 24107]
3. 3 [Option ID = 24108]
4. 4 [Option ID = 24109]

Correct Answer :-
e 1 [Option ID = 24106]
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[Question ID = 6230][Question Description = Q72_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24110]
2. 2 [Option ID = 24111]
3. 3 [Option ID = 24112]
4. 4 [Option ID = 24113]

Correct Answer :-
e 1 [Option ID = 24110]
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[Question ID = 6231][Question Description = Q73_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24114]
2. 2 [Option ID = 24115]
3. 3 [Option ID = 24116]
4. 4 [Option ID = 24117]

Correct Answer :-
e 1 [Option ID = 24114]
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[Question ID = 6232][Question Description = Q74_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24118]
2. 2 [Option ID = 24119]
3. 3 [Option ID = 24120]
4. 4 [Option ID = 24121]

Correct Answer :-
e 1 [Option ID = 24118]
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[Question ID = 6233][Question Description = Q75_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24122]
2. 2 [Option ID = 24123]
3. 3 [Option ID = 24124]
4. 4 [Option ID = 24125]

Correct Answer :-

e 1 [Option ID = 24122]
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[Question ID = 6234][Question Description = Q76_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24126]
2. 2 [Option ID = 24127]
3. 3 [Option ID = 24128]
4. 4 [Option ID = 24129]

Correct Answer :-
e 1 [Option ID = 24126]
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[Question ID = 6235][Question Description = Q77_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24130]
2. 2 [Option ID = 24131]
3. 3 [Option ID = 24132]
4. 4 [Option ID = 24133]

Correct Answer :-
e 1 [Option ID = 24130]
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[Question ID = 6236][Question Description = Q78_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24134]
2. 2 [Option ID = 24135]
3. 3 [Option ID = 24136]
4. 4 [Option ID = 24137]

Correct Answer :-

e 1 [Option ID = 24134]
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[Question ID = 6237][Question Description = Q79_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24138]

2. 2 [Option ID = 24139]

3. 3 [Option ID = 24140]

4. 4 [Option ID = 24141]

Correct Answer :-

e 1 [Option ID = 24138]
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[Question ID = 6238][Question Description = Q80_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24142]
2. 2 [Option ID = 24143]
3. 3 [Option ID = 24144]
4. 4 [Option ID = 24145]

Correct Answer :-
e 1 [Option ID = 24142]
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[Question ID = 6239][Question Description = Q81_52_qSNz_PG_CHI_A]
1. 1 [Option ID = 24146]
2. 2 [Option ID = 24147]
3. 3 [Option ID = 24148]
4. 4 [Option ID = 24149]

Correct Answer :-
e 1 [Option ID = 24146]
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[Question ID = 6240][Question Description = Q82_5S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24150]
2. 2 [Option ID = 24151]
3. 3 [Option ID = 24152]
4. 4 [Option ID = 24153]

Correct Answer :-
e 1 [Option ID = 24150]
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[Question ID = 6241][Question Description = Q83_52_qSNz_PG_CHI_A]
1. 1 [Option ID = 24154]
2. 2 [Option ID = 24155]
3. 3 [Option ID = 24156]
4. 4 [Option ID = 24157]

Correct Answer :-
e 1 [Option ID = 24154]
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[Question ID = 6242][Question Description = Q84_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24158]

2. 2 [Option ID = 24159]

3. 3 [Option ID = 24160]

4. 4 [Option ID = 24161]

Correct Answer :-

e 1 [Option ID = 24158]

HIEWEEXR, fF 56,

A TGl A 27 b (0 38 R AR 72 2 B A
B. LI PR B 2 17 5

C. FEA Rl BE I HIE F T sk ik

D. SR A T J5E 0 i PR 5 e Al
R F R,



1.B. D. A,
2.C. B, D,
3.C. A, D,
4.D. B. C,

vl ]

[Question ID = 6243][Question Description = Q85_52_qSNz_PG_CHI_A]
1 [Option ID = 24162]
2 [Option ID = 24163]
3 [Option ID = 24164]
4 [Option ID = 24165]
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Correct Answer :-
e 1 [Option ID = 24162]
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[Question ID = 6244][Question Description = Q86_5S2_qSNz_PG_CHI_A]
1 [Option ID = 24166]
2 [Option ID = 24167]
3 [Option ID = 24168]
4 [Option ID = 24169]
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Correct Answer :-
e 1 [Option ID = 24166]
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[Question ID = 6245][Question Description = Q87_52_qSNz_PG_CHI_A]
1 [Option ID = 24170]
2 [Option ID = 24171]
3 [Option ID = 24172]
4 [Option ID = 24173]
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Correct Answer :-
e 1 [Option ID = 24170]
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[Question ID = 6246][Question Description = Q88_5S2_qSNz_PG_CHI_A]
1 [Option ID = 24174]
2 [Option ID = 24175]
3 [Option ID = 24176]
4 [Option ID = 24177]
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Correct Answer :-



e 1 [Option ID = 24174]
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[Question ID = 6247][Question Description = Q89_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24178]
2. 2 [Option ID = 24179]
3. 3 [Option ID = 24180]
4. 4 [Option ID = 24181]

Correct Answer :-
e 1 [Option ID = 24178]
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[Question ID = 6248][Question Description = Q90_S2_qSNz_PG_CHI_A]
1. 1 [Option ID = 24182]
2. 2 [Option ID = 24183]
3. 3 [Option ID = 24184]
4. 4 [Option ID = 24185]

Correct Answer :-
e 1 [Option ID = 24182]
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[Question ID = 6249][Question Description = Q91_5S2_qSNz_PG_CHI__B]
1. 1 [Option ID = 24186]
2. 2 [Option ID = 24187]
3. 3 [Option ID = 24188]
4. 4 [Option ID = 24189]

Correct Answer :-
e 1 [Option ID = 24186]
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[Question ID = 6250][Question Description = Q92_52_qSNz_PG_CHI__B]
1. 1 [Option ID = 24190]
2. 2 [Option ID = 24191]
3. 3 [Option ID = 24192]
4. 4 [Option ID = 24193]

Correct Answer :-
e 1 [Option ID = 24190]
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[Question ID = 6251][Question Description = Q93_S2_qSNz_PG_CHI__B]
1. 1 [Option ID = 24194]
2. 2 [Option ID = 24195]



3. 3 [Option ID = 24196]
4. 4 [Option ID = 24197]

Correct Answer :-
e 1 [Option ID = 24194]
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[Question ID = 6252][Question Description = Q94_5S2_qSNz_PG_CHI__B]
1. 1 [Option ID = 24198]
2. 2 [Option ID = 24199]
3. 3 [Option ID = 24200]
4. 4 [Option ID = 24201]

Correct Answer :-

e 1 [Option ID = 24198]
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[Question ID = 6253][Question Description = Q95_52_qSNz_PG_CHI__B]
1. 1 [Option ID = 24202]
2. 2 [Option ID = 24203]
3. 3 [Option ID = 24204]
4. 4 [Option ID = 24205]

Correct Answer :-
e 1 [Option ID = 24202]
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[Option ID = 24214]
2.2

[Option ID = 24215]
3.3

[Option ID = 24216]
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